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0.

5 =30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_baseline_lowPT
—e— DQM_mkFit_baseline6iter_lowPT
[Efficienc]| —— DQM_mkFit_TT_Retrainv2_WP2_6iter_ep3_lowPT

< 0.1

>

o0 b
: o
: i
1 - RHETCAE] - S -2 4- - - - - -
il
095108060402 0 02040608 1
TP dxy(PV) (cm)
— 0.1

=30 -20 -10 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

;0.

o
%0.09)
o

20.08
3,
So.07
@
S0.08
g
0.05
o0afHE - el i AlE
0.038{E % - H{ - Al il
0.02FHfHf -1 - .-

o.otf{EH -1 HIEH: - Lok RGN -

Il

Ratio
3

0.9
0.8
0.7




	Contents
	Page 1


